
Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without noticeFS-70

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Floor Scales

ROUGHDECKTM HP, & HP-H (See Diagram RoughDeck-A)

SUGGESTED
REF # PART # DESCRIPTION LIST PRICE

23126 ..... Junction box board, EL604STA 4-channel ............................ $140.00
16960 ..... Operating manual ..................................................................... 10.00

1 43612 ..... Junction box, 4-channel signal trim ......................................... 220.00
2 26087 ..... Flex connector, liquid-tight strain relief ........................................ 4.00
3 15496 ..... Cable, EL147HE 6-wire ........................................................... 1.80/ft
3 15611 ..... Cable, EL147HE 6-wire, 20' ..................................................... 34.00
4 26320 ..... Junction box tray ...................................................................... 15.00
5 14876 ..... Junction box screw .................................................................... 1.00
6 14908 ..... Junction box enclosure screw, flat countersunk .......................... 1.00
6 43611 ..... Junction box enclosure screw, panhead ..................................... 1.00
7 15398 ..... Rubber grommet, load cell cable ................................................ 1.00
7 15377 ..... Rubber grommet, deck-to-indicator cable .................................. 1.00
8 15658 ..... Cable tie mount, 1" square ......................................................... 2.00
9 15631 ..... Cable tie, 3" ................................................................................ 1.00

10 15071 ..... Load cell bolt (HP models only) ................................................... 9.00
11 18756 ..... Foot assembly (HP models only) ............................................... 45.00
12 21491 ..... Load cell, RL30000-1000 lb (2000 lb models) ......................... 295.00
12 21495 ..... Load cell, RL30000-2500 lb (5000 lb models) ......................... 295.00
12 21498 ..... Load cell, RL30000-4000 lb (10,000 lb models) ...................... 295.00
13 18777 ..... Mounting plate, mild steel (optional)  ( HP models only) ............. 24.00
13 18778 ..... Mounting plate, stainless steel (optional)  (HP models only) ....... 30.00
14 15051 ..... Overload protection screw (Canadian legal-for-trade version

of HP model only) ....................................................................... 1.00
15 15410 ..... Bubble level (Canadian legal-for-trade version of HP model only) 5.00

Additional Parts for RoughDeck HP-H Heavy Capacity Floor Scales
10 40337 ..... Load cell bolt ............................................................................ 12.00
11 39021 ..... Foot assembly, 20K capacity models ........................................ 82.00
11 39022 ..... Foot assembly, 30K capacity models ...................................... 125.00
12 21503 ..... Load cell, RL30000-10K ......................................................... 375.00
13 40387 ..... Mounting plate, mild steel, 20K capacity models (optional) ....... 40.00
13 40388 ..... Mounting plate, mild steel, 30K capacity models (optional) ....... 40.00

5

1 3 2 4 6 7 8 9 10 11 12 13

14

15

RoughDeck-A



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without notice FS-71

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Fl
oo

r S
ca

le
s

ROUGHDECKTM SS (See Diagram RoughDeck-B)

SUGGESTED
REF # PART # DESCRIPTION LIST PRICE

23126 ..... Junction box board, EL604STA 4-channel ............................ $140.00
16960 ..... Operating manual ..................................................................... 10.00

1 21173 ..... Junction box, NEMA 4X, 4-channel, signal trim ....................... 295.00
2 25931 ..... Junction box faceplate .............................................................. 54.00
3 14877 ..... Junction box faceplate screw ..................................................... 2.00
4 23090 ..... Screw ........................................................................................  1.00
5 15496 ..... Cable, EL147HE 6-wire ........................................................... 1.80/ft
5 15611 ..... Cable, EL147HE 6-wire, 20' ..................................................... 34.00
6 26087 ..... Flex connector, liquid-tight strain relief ........................................ 4.00

15630 ..... Flex connector nut ...................................................................... 2.00
7 15669 ..... Cable grip ................................................................................... 3.00
8 15658 ..... Cable tie mount, 1" square ......................................................... 2.00
9 15631 ..... Cable tie, 3" ................................................................................ 1.00

10 15075 ..... Load cell screw......................................................................... 13.00
11 18756 ..... Foot assembly .......................................................................... 45.00
12 30649 ..... Load cell, RL35023S-N5 1000 lb (2000 lb models) ................. 365.00
12 30651 ..... Load cell, RL35023S-N5 2500 lb (5000 lb models) ................. 365.00
12 30652 ..... Load cell, RL35023S-N5 4000 lb (10,000 lb models) .............. 365.00
13 18777 ..... Mounting plate, mild steel (optional) .......................................... 24.00
13 18778 ..... Mounting plate, stainless steel (optional) ................................... 30.00

8 9 10 11 12 13

3

4

5

6
4 3 2 7

1

RoughDeck-B



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without noticeFS-72

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Floor Scales

ROUGHDECKTM HE (See Diagram RoughDeck-C)

SUGGESTED
REF # PART # DESCRIPTION LIST PRICE

23126 ..... Junction box board, EL604STA 4-channel ............................ $140.00
16960 ..... Operating manual ..................................................................... 10.00

1 21173 ..... Junction box, NEMA 4X, 4-channel signal trim ........................ 295.00
2 15496 ..... Cable, EL147HE 6-wire ........................................................... 1.80/ft
2 15611 ..... Cable, EL147HE 6-wire, 20' ..................................................... 34.00
3 15658 ..... Cable tie mount, 1" square ......................................................... 2.00
4 15631 ..... Cable tie, 3" ................................................................................ 1.00
5 15075 ..... Load cell screw......................................................................... 13.00
6 18756 ..... Foot assembly .......................................................................... 45.00
7 31283 ..... Load cell, RL35082-N5 1000 lb (2000 lb models) ................... 425.00
7 31282 ..... Load cell, RL35082-N5 2500 lb (5000 lb models) ................... 425.00
7 31281 ..... Load cell, RL35082-N5 4000 lb (10,000 lb models) ................ 425.00
8 18777 ..... Mounting plate, mild steel (optional) .......................................... 24.00
8 18778 ..... Mounting plate, stainless steel (optional) ................................... 30.00

Note: Older style non-NTEP certified HE Series decks are equipped with RL39523 series load cells and are
not electronically compatible with the RL35082 series load cells listed above. Consult your current Load Cell
Product Selection Guide for replacement RL39523 load cells.

3 4 5 6 7 8

2

1

RoughDeck-C



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without notice FS-73

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Fl
oo

r S
ca

le
s

AUTOLIFT HE (See Diagram AutoLift HE-A)

SUGGESTED
REF # PART # DESCRIPTION LIST PRICE

1 23127 ..... Junction box, NEMA 4X, 4-channel, signal trim ..................... $220.00
2 15611 ..... Cable, 6-wire, junction box to indicator ..................................... 34.00
3 16141 ..... Cable ties, 8" (at back of assembly) ............................................ 1.00
4 15075 ..... Load cell screw......................................................................... 13.00
5 18756 ..... Foot assembly .......................................................................... 45.00
6 31283 ..... Load cell, (2000 lb capacity) ................................................... 425.00
6 31282 ..... Load cell, (5000 lb capacity) ................................................... 425.00
6 31281 ..... Load cell, (10,000 lb capacity ................................................. 425.00

4 5 6

3

1 2

Through Conduit
Through Conduit

AutoLift HE-A



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without noticeFS-74

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Floor Scales

AutoLift HE (Cont.)
Pneumatic Control Box (See Diagram AutoLift HE-B)

SUGGESTED
REF # PART # DESCRIPTION LIST PRICE

5 42282 ..... Fitting, 1/8" female, straight to 5/16" tubing ............................ $13.00
6 42281 ..... Adjustable flow control valve ..................................................... 38.00
7 42268 ..... Brass nipple, 1/8" NPT 3/4", closed............................................ 2.00
8 42280 ..... Valve adaptor, push-button ...................................................... 14.00
9 42279 ..... Push button actuator, key operated, 30mm diameter ............. 105.00

11 42277 ..... Control valve, 3-way spool ........................................................ 42.00
12 42276 ..... Brass nipple, 1/8" NPT x 2" ........................................................ 3.00
13 42275 ..... Fitting, 1/8" male, straight to 5/16" tubing ................................... 9.00
14 42274 ..... Check valve, poppet type ......................................................... 19.00
15 42273 ..... Fitting, 1/8" male elbow, 90° to 5/16" tubing ............................ 11.00
16 42272 ..... Adjustable flow control valve ..................................................... 38.00
17 42271 ..... Fitting, 1/8" NPT bulkhead .......................................................... 7.00
18 42270 ..... Muffler, 1/8" NPT porous metal ................................................... 5.00
22 15631 ..... Cable tie, 3" nylon ....................................................................... 1.00

AutoLift HE-B

CI
NC
IN
NA
TI
, 
OHCl

ip
pa
rd

4

2

1

5

3

6

5

22

17

18

9

13

8

16

15

14

12

11

7



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without notice FS-75

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Fl
oo

r S
ca

le
s

AutoLift HE (Cont.)
Pneumatic Lift Scale (See Diagram AutoLift HE-C)

SUGGESTED
REF # PART # DESCRIPTION LIST PRICE

42267 ..... Air filter/regulator and lubricator w/semi automatic drain ....... $275.00
44141 ..... Operating manual ..................................................................... 25.00

1 41936 ..... Pit coping WLDT, 4' x 4' ......................................................... 995.00
1 41937 ..... Pit coping WLDT, 5' x 5' ...................................................... 1,195.00
3 42261 ..... Exhaust muffler/filter ................................................................... 9.00
5 42265 ..... Air cylinder, 5' x 5' ............................................................... 1,497.00
5 42266 ..... Air cylinder, 4' x 4' ............................................................... 1,350.00
7 42263 ..... Rod clevis, nut & cotter pins ................................................... 118.00
8 42310 ..... Clevis pin .................................................................................... 5.00
9 35356 ..... Cotter pin ................................................................................... 2.50

AutoLift HE-C

SW
IT
CH
. 
RE
LI
EV
E 
CY
LI
ND
ER
 P
RE
SS
UR
E 
BY
 L
OW
ER
IN
G 
PL
AT
FO
RM

NE
VE
R 
PL
AC
E 
BO
DY
 P
AR
TS
 I
N 
PI
T 
WI
TH
OU
T 
SA
FE
TY
 B
AR

OP
ER
AT
E 
AT
 7
5-
10
0 
PS
I 
AI
R 
PR
ES
SU
RE
 O
NL
Y.

ON
TO
 S
AF
ET
Y 
BA
R 
BE
FO
RE
 R
EM
OV
IN
G 
KE
Y.

PR
OP
ER
LY
 P
OS
IT
IO
NE
D 
AN
D 
KE
Y 
RE
MO
VE
D 
FR
OM
 P
NE
UM
AT
IC

NE
VE
R 
RA
IS
E 
PL
AT
FO
RM
 W
IT
H 
OB
JE
CT
S 
ON
 W
EI
GH
IN
G 
SU
RF
AC
E.

WA
RN
IN
G

3

7

9

5

8

1



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without noticeFS-76

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Floor Scales

10
11

12

7

98
431

2

5
6

3

13

15

17

18

16

14

ROUGHDECKTM BPS

Mild Steel Construction
SUGGESTED

REF # PART # DESCRIPTION LIST PRICE

43612..... Junction box, standard, 4-channel, signal trim ...................... $220.00
18777 ..... Mounting plates, set of two (optional) ........................................ 24.00
19352 ..... Stand alone (floor mount) indicator stand, mild steel ............... 195.00
23126 ..... Junction box board, EL604STA 4-channel .............................. 140.00
28082 ..... Operating manual ..................................................................... 10.00

1 16024 ..... Junction box enclosure ............................................................. 36.00
2 26320 ..... Junction box tray ...................................................................... 15.00
3 14876 ..... Junction box tray screw .............................................................. 1.00
6 14908 ..... Junction box enclosure screw, flat countersunk .......................... 1.00
6 43611 ..... Junction box enclosure screw, panhead ..................................... 1.00
5 15496 ..... Cable, EL147HE 6-wire ........................................................... 1.80/ft
5 15611 ..... Cable, EL147HE 6-wire, 20' ..................................................... 34.00
6 26087 ..... Flex connector, liquid-tight strain relief ........................................ 4.00

15630 ..... Flex connector nut ...................................................................... 2.00
7 21491 ..... Load cell, RL30000 (1000 lb model) ....................................... 295.00
8 15071 ..... Load cell screw........................................................................... 9.00
9 18756 ..... Foot assembly .......................................................................... 45.00

Additional Parts for Portable Mild Steel Model
10 28001 ..... Column mount for indicator .................................................... 237.00
11 16141 ..... Cable tie ..................................................................................... 1.00
12 15019 ..... Screw, cap ................................................................................. 1.00
13 28096 ..... Plunger clamp .......................................................................... 71.00
14 44306 ..... Adaptor ...................................................................................... 5.00
15 28095 ..... Caster assembly ....................................................................... 30.00
16 21938 ..... Washer ....................................................................................... 1.00
17 15159 ..... Lock washer ............................................................................... 1.00
18 14743 ..... Bolt ............................................................................................. 0.25

(See Diagram RoughDeck BPS-A)

RoughDeck BPS-D1K

RoughDeck BPS-A1K

RoughDeck BPS-A

Note: Wheel
assemblies, wheel
mounts and indicator
stand shown as
reference for portable
models; not offered as
additional parts for
standard models.



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without notice FS-77

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Fl
oo

r S
ca

le
s

8

9
10

12

13

11

3

4

5

6
4 3 2 7

1

14

15

16

17

19

18

RoughDeckTM BPS (Cont.)
Stainless Steel & HE Construction

SUGGESTED
REF # PART # DESCRIPTION LIST PRICE

23126 ..... Junction box board, EL604STA 4-channel ............................ $140.00
18778..... Mounting plates, set of two (optional) ........................................ 30.00
28740..... Stand alone (floor mount) indicator stand, stainless steel ........ 295.00
28082..... Operating manual ..................................................................... 10.00

1 21173 ..... Junction box, NEMA 4X, 4-channel, signal trim ....................... 295.00
2 25931 ..... Junction box faceplate .............................................................. 54.00
3 14877 ..... Junction box faceplate screw ..................................................... 2.00
4 25930 ..... Screw ........................................................................................  1.00
5 15496 ..... Cable, EL147HE 6-wire ........................................................... 1.80/ft
5 15611 ..... Cable, EL147HE 6-wire, 20' ..................................................... 34.00
6 26087 ..... Flex connector, liquid-tight strain relief ........................................ 4.00

15630 ..... Flex connector nut ...................................................................... 2.00
7 15669 ..... Cable grip ................................................................................... 3.00
8 17189 ..... Load cell, RL39123SS (1000 lb SS models) ............................ 350.00
8 17252 ..... Load cell, RL35083 (1000 lb HE models) ................................ 405.00
9 15075 ..... Load cell screw......................................................................... 13.00

10 18756 ..... Foot assembly .......................................................................... 45.00

Additional Parts for Portable Stainless Steel & HE Models
11 28002 ..... Column mount for indicator .................................................... 294.00
12 16141 ..... Cable tie ..................................................................................... 1.00

13 & 17 15020 ..... Screw, cap (bolt for column mount & plunger) ............................ 1.00
14 36927 ..... Plunger clamp ........................................................................ 184.00
15 36926 ..... Caster assembly ....................................................................... 69.00
16 15160 ..... Lock washer ............................................................................... 4.00
18 44306 ..... Spacer ........................................................................................ 5.00
19 15161 ..... Washer, 3/8 SST ........................................................................ 1.00

Note: Wheel assem-
blies, wheel mounts
and indicator stand
shown as reference for
portable models; not
offered as additional
parts for standard
models.

RoughDeck BPS-B

(See Diagram RoughDeck BPS-B)



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without noticeFS-78

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Floor Scales

ROUGHDECKTM QC QUICK CLEAN STAINLESS STEEL FLOOR SCALE (See Diagram RoughDeck QC-A)

SUGGESTED
REF # PART # DESCRIPTION LIST PRICE

21173 ..... RoughDeck 4-channel j-box ................................................... 295.00
7 47714 ..... Retaining ring, 5/16 shaft ............................................................ 2.00

17 47715 ..... Hinge pin, 5/16 diameter ............................................................ 4.00
18 47718 ..... Safety latch ............................................................................... 24.00
19 14994 ..... Cap screw, 5/16-24NF x 1 ......................................................... 1.00
20 47711 ..... Cap screw, 5/16-18NC x 1 3/4 .................................................. 1.00
21 47690 ..... Gas spring, 20" extended ....................................................... 200.00
22 15233 ..... Cotter pin, 1/8 x 3/4 ................................................................... 1.00
23 47712 ..... Clevis pin, 5/16 x x 11/2 ............................................................. 2.00
24 14634 ..... Lock nut, 1/4/20NC hex ............................................................. 1.00
25 35088 ..... Cap screw, 1/4-20NC x 1 hex .................................................... 1.00
26 40044 ..... Blank trigger spring ..................................................................... 1.00
27 48682 ..... Corner lock subassembly ........................................................... 6.65
28 47691 ..... Corner lock knob, SST ............................................................. 15.00
29 52517 ..... Cotter pin, 1/16 x 1 .................................................................... 2.00
30 47713 ..... Retaining ring, 1/2" shaft ............................................................. 2.00
32 31283 ..... Load cell, RL35082-1K (2K scales) ......................................... 425.00
32 31282 ..... Load cell, RL35082-2.5K (5K scales) ...................................... 425.00
32 31281 ..... Load cell, RL35082-4K (10K scales) ....................................... 425.00

RoughDeck QC-A

28

29

30

26

27

4 3

21

25 24

23

2219

18

9

1011

8

7
17

2

32

20

21



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without notice FS-79

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Fl
oo

r S
ca

le
s

ALTRALITETM (See Diagram Altralite-A)

SUGGESTED
REF # PART # DESCRIPTION LIST PRICE

22290 ..... Operating manual ....................................................................... 5.00
1 21172 ..... Junction box, 4-channel, signal trim ...................................... $220.00
2 15398 ..... Rubber grommet, load cell cable ................................................ 1.00
3 15377 ..... Rubber grommet, deck-to-indicator cable .................................. 1.00
4 14876 ..... Junction box tray screw .............................................................. 1.00
5 26320 ..... Junction box tray ...................................................................... 15.00
6 14908 ..... Junction box enclosure screw .................................................... 1.00
7 15496 ..... Cable, EL147HE 6-wire ........................................................... 1.80/ft
7 15611 ..... Cable, EL147HE 6-wire, 20' ..................................................... 34.00
8 15658 ..... Cable tie mount, 1" square ......................................................... 2.00
9 15631 ..... Cable tie, 3" ................................................................................ 1.00

10 15071 ..... Load cell screw........................................................................... 9.00
11 18756 ..... Foot assembly .......................................................................... 45.00
12 21491 ..... Load cell, RL30000-1000 lb (2000 lb model) .......................... 295.00
12 21495 ..... Load cell, RL30000-2500 lb (5000 lb model) .......................... 295.00
13 17758 ..... Load cell shim ............................................................................ 8.00
14 15671 ..... Cord grip, interface cable ............................................................ 3.00

1 2 3 5 6 7 8 9 10 11 12

13

4

14

Altralite-A



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without noticeFS-80

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Floor Scales

DECKHANDTM PORTABLE SCALE

Mild Steel (See Diagram DeckHand)
SUGGESTED

REF # PART # DESCRIPTION LIST PRICE

1 15494 ..... Cable, 4-conductor, 3.5' ........................................................... $1.35
2 41011 ..... Mount, indicator (for 310A, IQ plus 390-DC, 510, 710 & 800) ... 50.00
3 15398 ..... Grommet, rubber 1/2 x 1/4 ......................................................... 1.00
4 15145 ..... Flat washer, 1/4 ............................................................................ .50
5 14965 ..... Cap screw, 1/4-20NC x 3/4 ....................................................... 2.00
6 40986 ..... Upper platter (DH-500, DH-1000) ........................................... 300.00
6 42654 ..... Upper platter (DH-2000) ......................................................... 350.00
7 14996 ..... Cap screw, 5/16-18NC x 1 ........................................................... .50
8 41002 ..... Load cell channels (DH-500, DH-1000) ..................................... 65.00
8 42664 ..... Load cell channels (DH-2000) ................................................... 80.00
9 21939 ..... Flat washer, 5/16 ........................................................................ 1.00

10 14646 ..... Locknut, 5/16-18NC, hex ........................................................... 1.00
11 41003 ..... Shim, load cell .......................................................................... 13.00
12 41024 ..... Load cell, RL1260-250 kg (500 lb) .......................................... 310.00
12 41026 ..... Load cell, RL1260-500 kg (1000 lb) ........................................ 310.00
12 41027 ..... Load cell, RL1260-35 kg (2000 lb) .......................................... 310.00
13 40983 ..... Base platform (DH-500, DH-1000) .......................................... 375.00
13 42616 ..... Base platform (DH-2000) ........................................................ 425.00
14 26667 ..... Cap screws, 5/16-18NC x 1 ......................................................... .15
15 14989 ..... Overload stop set screw, 5/16 x 18NC x 1/2 .............................. 1.00
16 41004 ..... Base shim, ramp end .................................................................. 9.00
17 41267 ..... Scale base bumper, 3/4 ............................................................. 4.00
18 14964 ..... Cap screw, 1/4-20NC x 3/4 ......................................................... .25
19 15153 ..... Lock washer, 5/16 ...................................................................... 1.00
22 15658 ..... Cable tie mount .......................................................................... 2.00
23 15631 ..... Cable tie, 3" ................................................................................ 1.00
25 40181 ..... Locknut, 5/8-11NC..................................................................... 1.00
26 41268 ..... Wheel, 10" diameter x 5/8 bore ................................................ 35.00
27 41005 ..... Axle, 5/8-11 x 6 ........................................................................ 28.00
28 14676 ..... Jam nut, 5/8-11NC....................................................................... .25
29 41266 ..... Handle grip, 3/4 I.D. ................................................................... 6.00
30 40987 ..... Mast, 57-13/16 x 15 ............................................................... 460.00
31 15147 ..... Lock washer, 1/4 ........................................................................ 1.00
32 14641 ..... Hex nut, 1/4-20NC ..................................................................... 1.00
35 43612 ..... Junction box, 4-channel ......................................................... 220.00
36 21938 ..... Flat washer, 3/8 .......................................................................... 1.00
37 15159 ..... Lock washer, 3/8 ........................................................................ 1.00
38 14656 ..... Hex nut, 3/8-16NC ....................................................................... .60
39 41108 ..... Dampener strip, ramp stop ....................................................... 12.00
40 14908 ..... Cap screw, 10-32NF x 3/4 ......................................................... 1.00
41 41254 ..... Cap screw, 3/8-16NC x 6 ........................................................... 1.00
42 44130 ..... Bubble level plate ..................................................................... 13.00
43 15410 ..... Bubble level ................................................................................ 5.00
44 44127 ..... Compression spring, 0.041......................................................... 3.00
45 14941 ..... Cap screw, 10-32NF x 1 ............................................................ 1.00
46 44149 ..... Bumper cushion, self-adhesive ................................................. 25.00
50 15176 ..... Nylon washer, 5/8....................................................................... 3.00
51 46259 ..... Column back plate .................................................................. 100.00
52 14932 ..... Cap screw, 10-32NF x 3/8 ........................................................... .25
53 47726 ..... Base shim, all corners ............................................................... 13.00



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without notice FS-81

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Fl
oo

r S
ca

le
s

29

293031

32

37

36

38

35

1

39

40

45

22

41

44

43

42

23

25

28

50

27

19

6

46

8

9

10

11

12

13

15

16

17

18

51

34

52

2

3

4

5

26

14

7

53

DeckHand



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without noticeFS-82

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Floor Scales

DECKHANDTM PORTABLE SCALE

Stainless Steel (See Diagram DeckHand)
SUGGESTED

REF # PART # DESCRIPTION LIST PRICE

1 15494 ..... Cable, 4-conductor, 3.5' ........................................................... $1.35
2 41206 ..... Mount, indicator (for 310A, IQ plus 390-DC, 510, 710 & 800) ... 35.00
3 15377 ..... Grommet, rubber 1/2 x 1/4 ......................................................... 1.00
4 15149 ..... Flat washer, 1/4 .......................................................................... 1.00
5 41251 ..... Cap screw, 1/4-20NC x 3/4 ....................................................... 1.00
6 41181 ..... Upper platter (DH-500, DH-1000) ........................................... 410.00
6 42655 ..... Upper platter (DH-2000) ......................................................... 585.00
7 41250 ..... Cap screw, 5/16-18 NC x 1 ........................................................ 1.00
8 41197 ..... Load cell channels (DH-500) ................................................... 153.00
8 42665 ..... Load cell channels (DH-1000) ................................................... 95.00
8 42653 ..... Load cell channels (DH-2000) ................................................. 338.00
9 44237 ..... Flat washer, 5/16 ........................................................................ 1.00

10 35170 ..... Locknut, 5/16-18NC, hex ............................................................. .50
11 41198 ..... Shim, load cell .......................................................................... 14.00
12 41024 ..... Load cell, RL1260-250 kg (500 lb) .......................................... 310.00
12 41026 ..... Load cell, RL1260-500 kg (1000 lb) ........................................ 310.00
12 41027 ..... Load cell, RL1260-35 kg (2000 lb) .......................................... 310.00
13 41178 ..... Base platform (DH-500, DH-1000) .......................................... 745.00
13 42617 ..... Base platform (DH-2000) ........................................................ 785.00
14 26670 ..... Cap screws, 5/16-18NC x 1 ....................................................... 1.00
15 21933 ..... Overload stop set screw, 5/16 x 18NC x 1/2 .............................. 2.00
16 41199 ..... Base shim, ramp end ................................................................ 10.00
17 41267 ..... Scale base bumper, 3/4 ............................................................. 4.00
18 41251 ..... Cap screw, 1/4-20NC x 3/4 ....................................................... 1.00
19 15154 ..... Lock washer, 5/16 ...................................................................... 1.00
22 15658 ..... Cable tie mount .......................................................................... 2.00
23 15631 ..... Cable tie, 3" ................................................................................ 1.00
25 41249 ..... Locknut, 5/8-11NC..................................................................... 1.00
26 41268 ..... Wheel, 10" diameter x 5/8 bore ................................................ 35.00
27 41200 ..... Axle, 5/8-11 x 6 ........................................................................ 38.00
28 14680 ..... Jam nut, 5/8-11NC..................................................................... 1.00
29 41266 ..... Handle grip, 3/4 I.D. ................................................................... 6.00
30 41182 ..... Mast, 57-13/16 x 15 ............................................................... 615.00
31 15148 ..... Lock washer, 1/4 ........................................................................ 1.00
32 14642 ..... Hex nut, 1/4-20NC ..................................................................... 1.00
35 23127 ..... Junction box, 4-channel ......................................................... 220.00
36 15161 ..... Flat washer, 3/8 .......................................................................... 1.00
37 15160 ..... Lock washer, 3/8 ........................................................................ 4.00
38 14655 ..... Hex nut, 3/8-16NC ..................................................................... 1.00
39 41108 ..... Dampener strip, ramp stop ....................................................... 12.00
40 41253 ..... Cap screw, 10-32NF x 3/4 ......................................................... 1.00
41 41257 ..... Cap screw, 3/8-16NC x 6 ........................................................... 1.00
42 44129 ..... Bubble level plate ..................................................................... 19.00
43 15410 ..... Bubble level ................................................................................ 5.00
44 44128 ..... Compression spring, 0.041......................................................... 4.00
45 44126 ..... Cap screw, 10-32NF x 1 ............................................................ 1.00
46 44149 ..... Bumper cushion, self-adhesive ................................................. 25.00
50 15176 ..... Nylon washer, 5/8....................................................................... 3.00
51 46260 ..... Column back plate .................................................................. 150.00
52 46337 ..... Cap screw, 10-32NF x 3/8 ......................................................... 1.00
53 47727 ..... Base shim, all corners ............................................................... 14.00



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without notice FS-83

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Fl
oo

r S
ca

le
s

29

293031

32

37

36

38

35

1

39

40

45

22

41

44

43

42

23

25

28

50

27

19

6

46

8

9

10

11

12

13

15

16

17

18

51

34

52

2

3

4

5

26

14

7

53

DeckHand



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without noticeFS-84

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Floor Scales

1

4

5 2

3

6

ROUGHDECKTM FXB (See Diagram RoughDeck FXB-A)

SUGGESTED
REF # PART # DESCRIPTION CAPACITY LIST PRICE

1-3 33087 ..... Flexure plate*, 3" x 4 3/4" x 1/32" ........................................... $14.00
1-3 33303 ..... Flexure plate*, 3" x 3 1/4" x 1/32" ............................................. 12.50
1-3 33304 ..... Flexure plate*, 3" x 3 1/4" x 1/64" ............................................. 12.50
1-3 33302 ..... Flexure plate*, 3" x 3 3/4" x 1/32" ............................................. 12.50
1-3 33306 ..... Flexure plate*, 2 1/2" x 3" x 1/64" ............................................. 12.50
1-3 33305 ..... Flexure plate*, 2 1/2" x 3" x 1/32" ............................................. 12.50
1-3 33307 ..... Flexure plate*, 4" x 7" x 1/16" ................................................... 22.50
1-3 33086 ..... Flexure plate*, 4" x 6" x 1/16" ................................................... 48.00

4 17769 ..... Load cell pull cable 500 lb through 1,500 lb
(FXB-1824, FXB-1830, FXB-2424, FXB-3030) .......................... 30.00

4 33084 ..... Load cell pull cable, 2,000 lb-20,000 lb
(FXB-3030, FXB-3636, FXB-3846, FXB-4848, FXB-4860, FXB-4872,
FXB-6060, FXB-6072, FXB-6084, FXB-7296, FXB-84108)
NF x 3 5/8" long SST jam nuts included .................................... 36.00

N/A ......... Load cell pull cable, 30,000 lb (FXB-96120) ................ Consult factory

Load Cells
5 21432 ..... RL20000-150 (FXB-1824, FXB-2424, FXB-3030) .......... 500 lb275.00
5 21434 ..... RL20000-250 (FXB-1824, FXB-1830,

FXB-2424, FXB-3030) .............................. 1000 lb ................ 275.00
5 21435 ..... RL20000-300 (FXB-3030) ......................... 1500 lb ................ 275.00
5 21436 ..... RL20000-500 (FXB-3636, FXB-3846) ....... 1000 lb ................ 275.00
5 21436 ..... RL20000-500 (FXB-3030, FXB-3636, FXB-4848) .. 2000 lb ................ 275.00
5 21436 ..... RL20000-500 (FXB-4848, FXB-4860,

FXB-4872, FXB-6060) .............................. 5000 lb ................ 275.00
5 21437 ..... RL20000-750 (FXB-3636) ......................... 5000 lb ................ 275.00
5 21438 ..... RL20000-1000 (FXB-4848, FXB-4860,

FXB-4872, FXB-6060, FXB-6072) ............. 10,000 lb ............. 275.00
5 21440 ..... RL20000-2000 (FXB-6084, FXB-7296) ..... 10,000 lb ............. 275.00
5 21440 ..... RL20000-2000 (FXB-4872) ....................... 20,000 lb ............. 275.00
5 21441 ..... RL20000-2500 (FXB-6060, FXB-7296,

FXB-84108) .............................................. 20,000 lb ............. 275.00
5 21442 ..... RL20000-3000 (FXB-4848, FXB-6084) ..... 20,000 lb ............. 315.00
5 21443 ..... RL20000-5000 (FXB96120) ...................... 30,000 lb ............. 440.00
6 33425 ..... Spacer*, 3/4" .............................................................................. 8.00
6 33426 ..... Spacer*, 1" ................................................................................. 8.00

45377 ..... Shim set, 3", 4 per set .............................................................. 30.00
45378 ..... Shim set, 4", 4 per set .............................................................. 31.00

* To determine the correct Flexure Plate(s) and Spacer needed, see next page

RoughDeck FXB-A



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without notice FS-85

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Fl
oo

r S
ca

le
s

1

4

5 2

3

6

ROUGHDECKTM FXB (Cont.) (See Diagram RoughDeck FXB-A)

To determine which Spacer and Flexure Plate(s) you need, find your scale
configuration below:

REF #1 REF #2 REF #3 REF #6
LOAD FULCRUM CENTER

BASE SIZE CAPACITY (LB) FLEXURE FLEXURE FLEXURE SPACER

18" x 24" ..... 500-1000 .............. 33304 ............ 33304............. 33306 ............. N/A
18" x 30" ..... 500-1500 .............. 33304 ............ 33304............. 33306 ............. N/A
24" x 24" ..... 500-1000 .............. 33304 ............ 33304............. 33306 ............. N/A
30" x 30" ..... 500-1500 .............. 33304 ............ 33304............. 33306 ............. N/A
30" x 30" ..... 2000 ..................... 33087 ............ 33303............. 33305 ........... 33425
36" x 36" ..... 1000-5000 ............ 33087 ............ 33303............. 33305 ........... 33425
38" x 46" ..... 1000-10,000 ......... 33087 ............ 33303............. 33305 ........... 33425
48" x 48" ..... 1000-5000 ............ 33087 ............ 33303............. 33305 ........... 33425
48" x 48" ..... 7000 ....................... N/A ................ N/A............... 33305 ........... 33425
48" x 48" ..... 10,000 .................. 33087 ............ 33302............... N/A ............. 33425
48" x 48" ..... 20,000 .................. 33307 ............ 33086............. 33087 ........... 33426
48" x 60" ..... 2000-5000 ............ 33087 ............ 33303............. 33305 ........... 33425
48" x 60" ..... 10,000 .................. 33087 ............ 33302............. 33305 ........... 33425
48" x 60" ..... 20,000 .................. 33307 ............ 33086............. 33087 ........... 33425
48" x 72" ..... 2000-5000 ............ 33087 ............ 33302............. 33305 ........... 33425
48" x 60" ..... 10,000 .................. 33087 ............ 33302............. 33305 ........... 33426
48" x 72" ..... 20,000 .................. 33307 ............ 33086............. 33307 ........... 33425
60" x 60" ..... 2000-5000 ............ 33087 ............ 33303............. 33087 ........... 33425
60" x 60" ..... 10,000 .................. 33087 ............ 33302............. 33305 ........... 33425
60" x 60" ..... 20,000 .................. 33307 ............ 33086............. 33087 ........... 33425
60" x 72" ..... 5000-10,000 ......... 33307 ............ 33086............. 33305 ........... 33425
60" x 72" ..... 20,000 .................. 33307 ............ 33086............. 33087 ........... 33425
60" x 84" ..... 5000 ..................... 33307 ............ 33086............. 33305 ........... 33425
60" x 84" ..... 10,000-20,000 ...... 33307 ............ 33086............. 33087 ........... 33425
72" x 96" ..... 5000-20,000 ......... 33307 ............ 33086............. 33087 ........... 33425
84" x 108" ... 5000 ..................... 33307 ............ 33086............. 33087 ........... 33425
84" x 108" ... 10,000-20,000 ........ N/A .............. 33086............. 33087 ........... 33425
96" x 120" ... 10,000 .................. 33307 ............ 33086............. 33087 ........... 33425
96" x 120" ... 20,000-30,000 ...... 33307 ............ 33086............... N/A ............. 33425

RoughDeck FXB-A



Prices F.O.B. Rice Lake, Wisconsin • January 1, 2001
© Rice Lake Weighing Systems 2001 • Prices & specifications subject to change without noticeFS-86

Floor Scales
CONFIDENTIAL DISTRIBUTOR REPLACEMENT PARTS & PRICE SCHEDULE

Floor Scales

THURMAN ELECTRONIC FLOOR SCALE INDIVIDUAL REPLACEMENT PARTS

EQUIVALENT SUGGESTED
PART # DESCRIPTION THURMAN # LIST PRICE

TH952SS ... Bearing socket, .783" dia x 1/2" .......... 10000170A ................. 18.00
TH954SS ... Bearing socket, 1.27" dia x 3/4" .......... 10001630A ................. 24.00
TH957SS ... Bearing socket, 1.752" dia x 13/16" ...... 10002410A ................. 38.00

TH953SS ... Load pin, 27/8" x 2" x 1" - 12 UNF ...... 10001520A ................. 60.00
TH958SS ... Load pin, 4" x 21/2" x 11/2" - 12 UNF ... 10004350A ................. 75.00
TH949SS ... Load pin, 53/8" x 3" x 2" - 12 UNF ...... 10004820A ................. 85.00

TH960SS ... Load receiver nut,
2" dia x 1" x 1"-12 UNF ...................... 10003020A ................. 33.00

TH961SS ... Load receiver nut,
21/2" dia x 11/2" x 1 1/2" - 12 UNF ...... 10004340A ................. 37.00

TH959SS ... Load receiver nut,
3" dia x 2" x 2" - 12 UNF.................... 10004810A ................. 44.00

33654 ........ Load cup, A: 3/4", B: 11/8",
C: 1/2", D: 1/2" - 20 .............................. 10000140A ................. 22.00

33653 ........ Load cup, A: 1 1/8", B: 11/2",
C: 3/4", D: 3/4" - 16 .............................. 10001640A ................. 24.00

33652 ........ Load cup, A: 13/4", B: 2",
C: 13/16", D: 1" - 12 ............................. 10028830A ................. 68.00

33651 ........ Load cup, A: 13/4", B: 213/16",
C: 13/16, D: 1" - 12 .............................. 10002400A ................. 95.00

33650 ........ Load cup, A: 13/4", B: 213/16",
C: 13/16", D: 1" - 14 ............................. 10002400A ................. 95.00

33647 ........ Load cup, A: 13/4", B: 23/4",
C: 1/2", D: 1/2" - 20 .............................. N/A.............................. 26.00

18815 ........ Hardened ball, 5/8" dia ........................ 10000190A ................... 3.00
18816 ........ Hardened ball, 7/8" dia ........................ 10001450A ................... 5.00
10993 ........ Hardened ball, 3/4" dia ........................ N/A................................ 4.00
10772 ........ Hardened ball, 1" dia ......................... N/A................................ 6.00

c

a

b

d


	RoughDeck HP & HP-H
	RoughDeck SS
	RoughDeck HE
	Autolift HE
	Pneumatic Control Box
	Pheumatic Lift Scale
	RoughDeck BPS
	Continued

	RoughDeck QC
	AltrLite
	DeckHand - Mild Steel
	Continued

	DeckHand - Stainless Steel
	Continued

	RoughDeck FXB
	Continued

	Thurman Electronic Floor Scale

